
CORDLESS POWER PLANER MODEL 1051DWD 

03-01 



Part Qtv. 
Fig. No. Used Description 

Part W. 
Used Description Fig. No. 

1 816348-8 
2 271312-0 
3 232185-6 
4 344710-2 
5 265995-6 
6 416787-8 
7 951051-5 
8 266045-0 
9 257215-2 
10 231504-3 
11 344708-9 
12 265995-6 
13 165242-4 
14 413074-6 
15 651942-7 
16 416789-4 
17 233194-8 
18 643909-9 
20 416788-6 
21 629759-6 

22 265995-6 
23 417222-9 
24 265995-6 
26 417221-1 
27 231356-2 
28 317119-1 
29 921382-6 
30 344707-1 

1 
1 
2 
1 
1 
1 
1 
I 
1 
1 
1 
1 
1 
1 
1 
1 
1 
1 
1 
1 

2 
1 
4 
1 
1 
1 
1 
1 

SCALE LABEL 
KNOB 35 
LEAF SPRING 
CAM PLATE 
TAPPING SCREW4x18 
NOZZLE 

TAPPING SCREW M4x20 
SHOULDER RING 4 
TORSION SPRING 10 
DRUM COVER 
TAPPING SCREW 4x1 8 
DRUM HOLDER 
LEAD GUIDE 

LOCK OFF BUTTON 
COMPRESSION SPRING 4 
BATTERY HOLDER 
SWITCH LEVER 
DC MOTOR (Inc. 1 ea. Pulley 
7.5-13.5, 222151-1, 1 ea. 
Motor Holder, 344709-7, 2 ea. 
P. H. Screw M3x8,911008-8) 
TAPPING SCREW 4x1 8 
HANDLE COVER 
TAPPING SCREW 4x18 
MAINFRAME 
COMPRESSION SPRING 15 
FRONT BASE 
HEX BOLT M6x60 
BASE 

SPRING PIN 3-8 

SWlTCHV15-1A6-IN 

31 912127-3 
32 285691-0 
33 211016-2 
35 310073-8 
36 265484-1 
37 265069-3 
38 231317-2 
39 161134-5 
40 211088-7 
41 416785-2 
42 265995-6 
43 222152-9 
44 931402-8 
45 225082-3 
46 344711-0 
47 151617-3 
48 265995-6 
49 941051-3 
50 251871-0 
51 253807-5 

ACCESSORLES; 
400 122469-9 
401 344726-7 
402 344727-5 
403 414938-7 
404 783202-0 
405 824544-4 

406 193158-3 
407 DC1411 
408 A-90401 

6 
1 
1 
2 
4 
4 
4 
1 
1 
1 
4 
1 
1 
1 
1 
1 
2 
1 
1 
1 

1 
1 
1 
1 
1 
1 

I 
1 
1 

C. S. HEAD SCREW M4x16 

BALL BEARING 626LLB 
DRUM PLATE 
H. S. HEAD BOLT M6x18 
PAN HEAD SCREW M4x10 
COMPRESSION SPRING 3 
DRUM 
BALL BEARING 6000DDW 
BRACKET 
TAPPING SCREW 4x1 8 

HEX. NUT M8 

BAFFLE PLATE 
BELT COVER CPL. 
TAPPING SCREW 4x18 
FLAT WASHER4 
SCREW M5x10 
FLAT WASHER 5 

BEARING RETAINER 6-18 

PULLEY 8-30 

SYNCHRO BELT 6-210 

DUST BAG ASS'Y 
GUIDE HOLDER 
GUIDE RULE 
BATTERY COVER 
HEX. WRENCH 4 
PLASTICCARRYING CASE 
(incl. 2 ea. 417059-4, Latch) 
HIGH CAPACITYBA'TTERY 1434 
FAST CHARGER DC1411 
PLANER BLADE 50MM (SET) 

03-01 
2 MODEL 1051DWD 


